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He gives her from the money of Kaputkayo  — X pwisp mpnn b 3N

OVERVIEW

3"2w7 argues with the 0251 and maintains that if he married a woman in XpvVI5p
and divorced her in "X he is required to pay her 72102 with the monies of XpPuvIdp,
which are larger than the monies of >"X. This proves that 1"2w9 maintains 721N3
XN> 787, and since the T2yw became effective in Xpv1dp (where they married and
he wrote the 7121n2) therefore he must pay her X°pvI5p Mynn. Our NBOIN discusses
what difference is there with which money he pays her, that there should be any
proof that Xn>>R7 72100,

mMooIn asks:
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It is astounding to the >''7! What profit does she gain when he pays her with
NOPUIdDP NP, since -
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In any event he only pays her the value of fifty as>pw?!’

mMooIN entertains a possible solution:
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And if we would assume that the husband is always required to pay her with
fifty @a"»pw of the place in which they reside, meaning that -
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In XopwIdp the 72103 is fifty Xopwisp “opw and in "R fifty >''R “opw, it would be
understood -

moon shows that there is such a possibility that the payment must be with the local coin:
= (oW1 N, M) 992 YWY P93 9192 117197 DIYHD /N A 41)"1)32‘{‘19

"The obligation of a 71213 is two hundred 171 or fifty 2°%pw (four 17 to a %pw). The 2pw is a fixed amount of silver. If

the 2°%pw of X*pvIdP are heavier than the 2°7pw of *"X, he will pay her with ®°pv1dp Myn the value of 2°%pw "1 of M"X;

not more. (If four 2°%pw of X>pwIdP are worth five "X *2pw, he will pay her forty X°pwdp HpW.)

% See 7"mn who explains that we cannot say that X’pwp “pw are preferable since they exchange easier (W07 "2W),

because (firstly) she collects only from ¥ (and even if she collects 1"2u%vn he can pay her with any 1"%v?un) so she

loses the exchange value of the X>pvdp *opw. [It is not comparable to the desirability of n*7v, for there it is much

easier to work with N>y and also much easier to resell it.]

3 In this scenario she is getting a larger payment for her 721n3; proving that Xn»X7 72105.

5w 217 sent XA 27 seventeen 21 for 2";779 according to the old exchange rate that a ¥90 was three and a third oomr

(five o°v70 would be sixteen and two thirds 2 17). *wR 27 requested that XnX 27 return to him a third of a v which 27

WX overpaid. 8n& 11 responded that the o°ndm increased the value of a ¥70 to four 2’11 (so five o°¥70 are twenty 2°17)
1

TosfosInEnglish.com



M3 7"7'0I0 X,> M2 .7"'02

As XnR 27 said regarding the five 2°¥%% for the redemption of the first-born in
22 W PAD -
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Let the master ("X 27) send me three more 2°% which they added on the
original ¥90) and *wX 27 sent it to xnx 21 —

mooIn rejects this solution:
= 19500 DIPN 9219701V DNNT NN PN I

However it does not seem to apply here; for there in n17152 when they added to

the size of a v70, it was added everywhere; the value of a ¥70 or %pw was increased

universally; all payments in w7 2w needed to be increased everywhere -
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However when one place adds to the size of its 7P it does not seem right that

by this action the ;79\n measurement should change and one should be required to
give fifty of the larger 0°5pw.

mooIn reverts to the previous solution:
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However in the "»%217> 750 of our pa5 we read regarding our mwn which

states® that the 73303 is two hundred 1Y%, the 7w comments -
- WD HPwa 9N HNINY DU N 229

X112 ' in the name of X»w rules that these two hundred 11 need be in the holy
Bmw, however -

INDINN NN 0NN 2PN I Onyy Y2V 92N N2 92 NaN 39
X112 92 XaR '3 rules the two hundred 17 need to be in issued currency, and many
28R there conclude similarly.

SUMMARY
There are opinions that if the 9pw is increased in a particular place the 721>

and you therefore still owe me another three o°11. It is apparent that when the Y70 was increased more money needed
to be paid. The same can be said concerning the X*pv19p *9pw, since they were increased, the 72105 payment increases
accordingly. See ‘Thinking it over’.
> The X071 in MM22 is XNoN (three [2°11]), not Xn>°n (a third [of a 1%7]).
% In our X3 in MM22 the words 172 171 do not appear.
713 77997 (in our MW it is 2,3 77).
890
? The two hundred 2°11 must be of equal value to fifty wTpn “opw.
' 1t needs to be fifty of the 2*pw in the country they reside, even if it is more (or less?) than wTpn “pw.
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payment increases.

THINKING IT OVER

It seems that (regarding the X713 in M1M>2) that the 0°»5n1 increased the value of the
WP 2pw (not any [specific] government).11 How then does Nv01n compare (even
in the X"¥7) the case of 722 where the o°nan dictated that the 9pw increased and
more money is due for 2"779, etc., to the case of XPvdP where the government
issued larger 0°9pw?! Why would that affect the 7205 202!

' See footnote # 4.
12 See 17y in WA NN,
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